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1-7. BT RS RIFRRZE S mE T LR

(1) FIAZE

(a) EERIPARIERE | 8 895,235(kg/HF) - 2022%
(b) ZEFRIPRIFZESRE (L) - 23.0(°C)

(c) RERRIPRIZZESIRE(L,) : 42.0(°C)

(d) LPGEILZSE(A0) : 12.332(Nm’/kg)

(e) ZSHIA(Cp) : 0.31(kecal/Nnm',C)

(f) TRIZTSZRE - 1.2

(g) LPGIEALEFRE(Q) : 11.060(keal/kg)

(h) AR 1 610.0(867T/kg) - 2022

(2) BREITIL92E(e)
Aox12xCex (to-1) 12.332x12x031x (42 -23)
= x100 (%) = X100 (%)
Q 11,060
=0.79(%)
(3) METY=

— B PCERE ( kg/F ) x BEITIZE (% )
= 8,895,235(kg/%) x 0.79(%)
=70,272.36[kg/%¥] » 84.61[toe/HF]

(4) EETLIE
= E8| PGTAE ( kg/#F ) x LPGEM ( #7T/k )
=70,272.36(kg/%) x 610(#75/kg)
= 42 87[ERFHT/4]

(5) &= M . 58.50[EHEFT]

I N S ST S TS
BT b set 30,000
RS (5 15,000
Hth 25 T#EFERN30% 13,500
a1t 58,500
(6) & EE AR

- WRER (BRET ) - EETAN ( BRST/E )
=585 (BRI )+ 4287 ( BRET/E )
=1.36[#]

(7) BESERHEE
- BORHER (to/F ) x (ZEMBATEBHTE )
=57 44(tC/5) x(44/12)(CO2eq/C)
= 210.61[tCO2eq/=]



